B.A. (COMPUTER APPLICATION)
Software Engineering (SEC)-4 '. |

(Common with Computer Science and
Physical Science COMP 303TH)

COMP308 TH

Time : 3 Hours] [ Maximum Marks : 70

The candidates shall limit their answer precisely

within the answer-book (40 pages) issued to them and
lementary/continuation sheet will be issued.

‘ no supp
Attempt Five questions in all, selecting one
question each from Unit-I to Unit-IV.

Q. No. 1 (Part (A) and (B)) is compulsory.
P.T.O.
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Note :



benefits ? '

following is a phase
(1) Economic Peasibility

(2) Technical Feasibility
(3) Operational Feasibility
. @ Al of the above (4) All of the above
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Bt are the reasons for the failure

aterfall model ? i

(a) Modular d

Unit I

(b) Real Time software desi

.‘-I

© you understand by software

sment life cycle models ? Explain -

€ 1 méﬁ in detail. 10 6. Explain SCM process in detail. =
_ o Or
in the following : 7. Write short notes on the following :
| Data Dictionary (@) Project Scheduling

Prototyping.

(b) Software Complexity.
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9. Write short notes on the following :

(a) Reverse Engineering

(b) Case Study of CASE tools.
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